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FACULTY OF HUMANITIES

M.A. (External) (First Year) EXAMINATION

APRIL/MAY, 2024

ECONOMICS

Paper III

(Indian Economy)

(Thursday, 9-5-2024) Time : 10.00 a.m. to 1.00 p.m.

Time—Three Hours Maximum Marks—100

N.B. :— (i) Attempt All questions.

(ii) All questions carry equal marks.

(i)

(ii)

1. Write answer of any one question from the following in detail : 20

(i) State the types of Indian Economy and explain the major features of

the Indian economy.

(ii) State the causes of poverty in India and explain the remedies to reduce

poverty.

(i)

(ii)
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2. Write answer of any one question from the following in detail : 20

(i) Write the causes of population growth rate in India is high.

(ii) What is human development ? Analyze the human development index

and india’s position in human development.

(i)

(ii)

3. Write answer of any one question from the following in detail : 20

(i) Explain the importance of agriculture sector in Indian economy.

(ii) Define agricultural marketing and explain the importance of agricultural

marketing.

(i)

(ii)

4. Write answer of any one question from the following in detail : 20

(i) What is agricultural productivity ? State the causes of low agricultural

productivity in India.

(ii) What is industrialization ? Explain the scope of industrialization.

(i)

(ii)
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5. Write short notes on any two from the following : 20

(i) Globalization

(ii) Types of unemployment

(iii) Sources of energy

(iv) Economic reforms.

(i)

(ii)

(iii)

(iv)

LR—30—2024 3
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